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1. WO Fue ReRe .

3T) 4 AL 1948 IS T4 AT AT GeAT ARG ATGR HROATT 3TTHT.

) 26 TR 1949 IS 282 ST ISTICHIR FTETT el

ERIRIIEGESE
RELIEEE IR 2) T ¥ I
3) el fora A 4) T foue s

Consider the following statements.

a) On 4 November 1948, the final draft of the Constitution was submitted to the Constituent
Assembly.

b) On 26 November 1949, 282 members signed the constitution.

Answer options :

1) Statement a is correct 2) Statement b is correct

3) Both statements are correct 4) Both statements are incorrect

2. ARG 9% WISIAUST hioTdT Aol 3TeTe] Tad?
1) FyT AT
2) FORTSHIT Jrsg9eHT HAHdr
3) ARG ded AT
4) ge-aT AT TR0 HOTRI =i AT

Jawaharlal Nehru was not the chairman of which of the following committees?

1) States Committee
2) Union Constitution Committee
3) Ad Hoc Committee on Citizenship

4) Special committee to examine the draft constitution

3. gedr I gaHa: fres muH ST R,
1) 17 L 1947 2) 17 SIT 1948
3) 22 S5 1947 4) 17 TR 1948
For the first time The Constituent Assembly met as a dominion legislature on
1) 17 November 1947 2) 17 June 1948
3) 22 July 1947 4) 17 November 1948
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4. HEAT AMHH THOT 2 99, 11 AfeH, 18 g #1 &e5, AT "geT AT THoT 11 I3
ST, AT WISIAUh! HIvTdT [u e s
31 genT AfdE ulRe sifvdee Rgr @eo gfe) 39 =R .
) FeAT AT qeedr AT 211 Fe 3T 2.
) gTecdT ATASZHTT SESET ST FHT HRogrd T,

¥) 24 STHART 1950 IS AT JHAE FET I IR IS,

TIRT I
1) 37,9, h, S 2) 3, F, S
3) 3,4, 4) d, 9, F

The Constitution Assembly had 11 sessions over 2 years, 11 months and 18 days. Which of
the following statements are true regarding it?

a) The first session of the Constituent Assembly was held at Delhi (Central Hall).

b) 211 members were present in the first session of the Constituent Assembly.

¢) In the first session Resolution of Objectives' was passed.

d) The last session of the Constituent Assembly was held on 24 January 1950.

Answer Options:

1) a, b, c, d 2) a, c,d

3)a, b, d 4 a,b,c

5. hiade WM FeHesdr g [T Hiord?
1) 9% TS vt g I7 dhise 2= armeT 2.
2) AT GeAT ARl IUTIT FROGTET AXE HRoATd ST B,
3) el a9 23udd RieuRig=aT FEaomErer Sl IR$R U9 FHROTRITE d3de ard
FHUITT 3T Bl
4) IR ATEL

Which of the following statement is false about the Cabinet Mission Plan?

1) Sir Stafford Cripps was the Chairman of this Cabinet Mission.

2) It provided for the establishment of a Constituent Assembly.

3) It provided for the establishment of a Provisional Government under the control of the
Viceroy until a constitution was framed.

4) None of these.
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6. YU URYIAT AGFTR & AR Isqde-dT Irear AIar T TIR Hol.
1) STHATST, 1947 2) 9T, 1947
3) Ydax, 1947 4) IR, 1947
The first draft of the Constitution of India was prepared in by the Advisory
Branch of the Constituent Assembly.
1) January, 1947 2) March, 1947
3) September, 1947 4) October, 1947

7. UEEAT SAAUS ST g S0 ST SISl IreAT RISl sggeddie

1) J(SYUTS) I RMehdld

DWWW@WWH

3) fa2iy sgaam uc~1|g<v<d| e emq 9 2T

4) HMH QT i HHAQ 954 ?lChd

Provisions of the Constitution relating to the administration of Scheduled Areas and
Scheduled Tribes in Schedule -

1) may be altered by the Governor

2) may be altered by the President

3) may be altered by the Parliament by Constitutional Amendment requiring special majority
4) may be altered by the Parliament by ordinary legislation

8.  SUYCHAT AT AT JelhUdhl BT TATGST 8id AT
37) IURTEIAT
DEEIBELT]
&) YRAT M6 T qEouTa=eTs
¥) 3T AATSIATAT =TT
%) faam aRwai=r sreret 9 IuTeret
) HETIATT
T I
H)3A, S 3, % ), S,
3, H, T, S 4) A, T3, %
Which of the following are not included in the Second Schedule of the Constitution?
a) Vice President
b) Advocate General
c¢) Comptroller and Auditor General of India
d) High Court Judges
e) Chairman and Vice-Chairman of Legislative Councils
f) Attorney General
Answers Options:
1)a, c d, e f 2) b, d, f
3)b,c d,e 4) a, b, e f
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9. WSBU H JaT FHaer.
1) e e, 1773 39 EfeaT SueT RATdIe A9eR™ Jq0T HEae woararer
e =T Heemr T
2) ISl IS, 1833: HU-El VRATAIG SATIRT AehaRT TYETd 3o,
3) AT RIS 3fae, 1861: HUAI FHEBSTUTST WAMER HEEBSTAT Yegdl O
TR HABRT TR TIHR TS HoATd 3.
4) Tug 2feam 3fae, 1884: HU-IAT IS YIET I TAHTER T HPIEIH ST ARBRGT
HTeT TRIET, AT 3T HUATAT HATHRAET 20gTd 3.
Choose the correct option from the following.

1) Regulating Act, 1773: Establishment of a Board of Control in Britain to fully regulate the
affairs of the East India Company in India.

2) Charter Act, 1833: The Company's trade monopoly in India ended.

3) India Council Act, 1861: The Viceroy's authority over the Executive Council was
strengthened by introducing an portfolio system instead of company functioning.

4) Pitts India Act, 1884: Directors of the Company were ordered to submit all correspondence

and documents relating to the administration of the Company to the British Government.

10.  Rd IRHR HEET, 1919 AT Hiord FurT gehrr AT
) AT HEAE AT 79 (S9fel HEedseEr! Mifdaiuard e,
) T HEAET haTd Fexl MEATHTRAT AR A
®) E, TR e, et snfor Rifes Jiemer Wdd AdeRTgrEl a3dg
FHRUYTA AT
T) AT FEATTY G0 HRATET TG § a1 9 HHI0T SHRoard M.
ERIRICTSER
1) 37 3o & 2) & AT €
3) 37 3T & 4) T TS

Which statement is/are not incorrect regarding the Government of India Act, 1919?

a) This act created a bicameral legislature for the first time in the province.

b) This act introduced dyarchy at the centre.

c) Separate electorates provided for Sikhs, Indian Christians, Anglo-Indians and Europeans.
d) It created a new office of High Commissioner for India in London.

Answer Options:

1)aand b 2) cand d

3) a and ¢ 4) b and d
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11,  RAN IT9edI® GISIAU! HIOTET R RIETomaR T91a qedr?

37) ST RO gRTesisdh dd ) UTHTOT SMITOT AR TR H=T
%) IREE VII ¥) IR VI

BRINELAY F) ST HaH

T 3T

H3A 9 b & 2)A,9,¢,3, D

3)d, ch, S, T 4H A3, %

Which of the following provisions of the Indian Constitution affects education?
a) Directive Principles of State Policy b) Rural and urban local bodies
¢) Schedule VII d) Schedule VI

e) Schedule V f) Fundamental duties

Answer Options:

1)a b, f 2) a, b,d, e, f

3) b, c d,e 4) a, b, e f

12.  37TFRY 9 3ABET,
1) YrERTET TGSl AT, 1989 Ay SgHS AP ST Sl 9 g
STHTAT 3TRINT IATYT FHRUATHT AR HRoaTd ST
2) THITHEETET TGSl TUEH, 2004 T ¥Fd AL FIAIT SITAr STERT 37O
TSR ST STHTAT 3TN IATO RO d=dE hRoard 3TTesl.

Wﬁ'\'f?fﬂ%:
1) %rh A 2) ®ch
3) 37 0T & SaT 4) ATIHRT ATE

Identify the incorrect options.

1) Under the Sixty-fifth Constitutional Amendment Act, 1989, a provision was made to
establish a multi-member National Commission for Scheduled Castes and Scheduled Tribes.
2) Under the Ninety-ninth Constitutional Amendment Act, 2004, provision was made to
establish a separate National Commission for Scheduled Castes and National Commission
for Scheduled Tribes.

Answer Options:

1) Only a 2) Only b

3) Both a and b 4) None of these
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13. AR 94T Saer.
3 drdegE- s ) FATA- 5T A
) dTHS FRYT- he AT ©) anfdes FarsH- wadt g
3) RASER T AERI- &y 9
IO 3
)3, & 2) Bth S
3) %th 4) ITUhT TR
Select the correct option.
a) Pilgrimages- Central list b) Newspapers- State list
¢) Religious Institutions- Central List d) Financial Planning- Concurrent List

e) Bankruptcy and Insolvency - Central List

Answer Options:

1) a, b, c 2) Only d

3) Only e 4) None of these

14,  WGHIGUHT HIOTAT TeATgHHAT TR SGRATST 70 TS U= T 7 IS AHSS
TreaT MAAET dRdg AT Tor?
1) 91 o "eATgSr AfAIH, 2002 2) 69 AT TGl ATAFTH, 1991
3) 70 AT FSATGHEI ATAHTH, 1992 4) 91 9T geATgS AfATH, 2003
According to which of the following constitutional amendments provision was made for the
formation of a 70-member Legislative Assembly and a 7-member Cabinet for Delhi?
1) 911d Constitutional Amendment Act, 2002
2) 69th Constitutional Amendment Act, 1991
3) 70th Constitutional Amendment Act, 1992
4) 91th Constitutional Amendment Act, 2003

15. WIHIGUSRN BT FeAIGow Y AsTIedle (AT IRRIST 986 Hvard AT
1) 15 9T geATgSl AfafTaH, 1963 2) 16 9T FSAIGHXAT ATATTH, 1963
3) 38 & "cAIgHRIl AU, 1975 4) 21 97 USATGSEI ATATEA, 1967
The Third Schedule of the Constitution was amended by which of the following constitutional
amendment?
1) 1504 Constitutional Amendment Act, 1963
2) 16t Constitutional Amendment Act, 1963
3) 38th Constitutional Amendment Act, 1975
4) 21th Constitutional Amendment Act, 1967
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16. TN SiredT SoadTl.

REZEE ST IR ) i)

) Rg ewisR i) =T

) ITTHAT AT IS ii) SR

&) TSTATH Jegll iii) feyoT 3MftheRr

T) IWIYIA! 9 iv) e
CHINCINCOINE)

1) i i iii iv

2) i iii i iv

3 iv il i ii

4) iv i iii ii

Match the correct pairs.

Features of constitution Source

a) Writs Jurisdiction i) France

b) Election of Members of Rajya Sabha ii) USA

¢) Republic State iii) South Africa

d) Office of Vice President iv) Britain
@ G © @

1) i i iii iv

2) i iii i iv

3) iv il i ii

4) iv i iii ii

17. TSA9CHAIS Gel hioTdl hod ARG HaRISare qHHRUST a8 W Hdld-

3N FAH 14 ) FAH 15

h) haH 29 8) hHH 30

3) B 44

ERIE SRS

1) ISR T )F TS

3) 3, ®, S, S 4) 3, 9,3

Which of the following articles in the Constitution explains the secular nature of the Indian
Union -

a) Article 14 b) Article 15

c) Article 29 d) Article 30

e) Article 44
Answer Options:
1) All of the above 2) ¢ d, e

3 acde 4) a, b, e
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18.  THIVTAT ITSThIT TeTid AL THA Hhacd Uoh IHGAR HagT 3o Bia?

a7 gHafRe g8y ) ATETT T

) PYh TSI 987 ©) A4

3) SIS PRT heI

TR IR

H3A, 9, € 2) 3, 9, h, g

3)3A,H, S, S 4) A, 9, H, T, 3

Which political party had only one candidate elected in the Constituent Assembly?
a) Unionist Party b) Communist Party

¢) Krishak Praja Party d) Independent

e) Scheduled Caste Federation

Answer Options:

1) a, b, d 2) a, b, c, e
3 acde 4) a, b,cd e

19. WISl 3T ST BT, (I3 HEGHT AagHET TIHR)

37) SN - 1920 T) foeT - 1928

) SHEIG — 1948 g) STITI- 1945

?) Rgres - 1971

TR I

)3, e, 2) A, 9,83

3) A, 9, h, S, T 4)h, S, S

Identify the correct pairs from the following. (Country- women's right to vote)
a) America — 1920 b) Britain - 1928

c) Israel — 1948 d) Japan - 1945

e) Switzerland - 1971

Answer Options:

1) a, b, d 2) a, b, d, e
3)a, b,cd e 4 c d e
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20. VT 111 A& ST 12 TAR ST AT AT WISIGURT HIOTAT Gehiar JIHET 2idr?
3N T ARPR T I [ ) 99 WA Wiy
F) AR IRBRAT FHHAETSS TR UMTIHRUT ) NCERT
T) ST A ERYT I FRUAE 6B HRd TID

TR 3N
)3, &, F, 2) 7T, H, T, 3
3) A, T, H, T 4) A, T, H

According to Article 12 of Part III the term 'State’ includes which of the following entities?
a) State Governments and State Legislatures

b) All local authorities

¢) Other authorities under the control of Government of India

d) NCERT

e) When Judiciary will act as rule maker

Answer options :

1) a, b, c, d 2)a,b,cd e

3)a, b, c e 4) a, b, c

21. WO [y =R = m.
3N ge=dT difcdsh ST [93iva: SR T 3Maiel ge-iar MaiRd 37e.
) YT HIATHS TFT [SeT=AT ge=aR MRS 37Te.
) T IASTRIT FRT HRATT 3ME- HaeT, 1935 9 TR 3R,

FAGTRT HIoTd/dT [T/~ TR 38/ @7
1) %h 3T 2) 37 AT *
3) ®h o 4) %th &

Consider the following statements.

a) Philosophical part of the Constitution is mainly based on the American and Irish
constitution.

b) The structural part of the Constitution is based on the Constitution of Britain.

c) The political part of the Constitution is based on the Government of India Act, 1935.
Which of the above statement/s is/are correct?

1) Only a 2) a and ¢

3) Only b 4) Only c
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22, MRAT TORST FaRdgadt A fum Siordr
3N IRAT HORST FaYT Hersl Hies a3 MR 3TTe.
) HASTHIIE HRATT HeRTsar=T M faerar sner o

) ISTISAAT Fed 1 T RAT AR 3T 3T Hoil TR,

o : o o o [ anN.Y
8) HIRATT HYURTST AT chx[hUMHT UIdl <2ATdd.

TR 39X
1) 3,9, & 2) A, H, S
3) 3,4, T 4) 3,9, H, €

Which are the correct statements regarding the Indian federal system?
a) The Indian federal system is based on the 'Canada model'.

b) Like Canada, the Indian federation was created through dissolution.
c) Article 1 of the Constitution mentions 'Union of India'.

d) The Indian federal system shows a tendency towards centralization.
Answer options :

1) a, b, c 2) a, c,d

3)a, b, d 4)a, b, c,d

23, IreTor A1 Re wfreratas=it wivrd [ IRSGF 3e?
1) B AATSIH ISR FAT IPIAT HeATT T AR AT awardl IUeAT hed
TN TSI & ATISE hig ZTehd.
2) IJETIT VTS & ATl S d99 STORIHS &= 378,
3) FASHSHIAT Hellldeeg & I Hredm Il

4) 3707 Wi ¥ § IEAES dHT T2MahT AR [aSgel hredr Idl.

Which statement about the writ of Certiorari is not applicable?

1) The higher court can issue this writ if the lower court violates its jurisdiction and ignores
the principle of natural justice.

2) The writ of Certiorari is preventive as well as curative in nature.

3) This writ is revocable against an act of the legislature.

4) The writ of Certiorari can be issued against judicial, quasi-judicial as well as administrative

authorities.
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24, WS Ty HERT w@I.
3T) HAH 14, 19 T 21 AT FHSHAT IRAT =T JI0T FHAROT 3T HAdraes .

) HAH 14, 19 T 21 IT HAHATATS! G-l IIUT =BT & AT TGTLHT TRl AX-ATaTdzr
q. =L, Fede AT ARl Jie Weddm e (1980) ITIRedT Ao SiTd.

FAGURT 3T Tar/~ e,
1) ek 3T 2) Hth &
3) 37 anfor 4) TEIE AET

Consider the following sentences.

a) Articles 14, 19 and 21 are called 'the Golden Triangle of Indian Constitution'.

b) The term 'golden triangle' of the Constitution for Articles 14, 19 and 21 is believed to
have been first coined by the then Chief Justice Y. V. Chandrachud in the Minerva Mill case

(1980).

Choose the correct statement/s from the above.

1) Only a 2) Only b
3)aand b 4) Neither

25. THAHH 31 C TIAR HAH 39 (b) MOT HAH 39 (c) AU ANTGRIH dcdial JHGITSTION HOTRT

HIUTATEN BT fehar 7o JHd ghid Igad HRd AT HROMEHA
g SOMR ATET

) HAH 14 ) HST 19

F) FHSH 21 T) FST 29

T 39N

1) 3T SfTOT & 2) 3T SOT &

3) § 3MoT & 4) § IMOT ©

According to Article 31 C any law implementing the directive principles contained in
Article 39 (b) and Article 39 (c) shall not be struck down on the ground that it violates the

fundamental rights under or

a) Article 14 b) Article 19
c) Article 21 d) Article 29
Answer Options:

1) aand b 2) a and c
3) b and c 4) b and d
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26. G [y =R =
37) 52 9 eGSR, 1976 = JsTdeHd eI Sal Il AHEE H0ATd AT
) T FeAIGHA ge-d 10 T IRFEIEET F9EE 8 $ed 101, 102, 190 30T 191 9
TEF HUATT IS,
%) 10 AT IRRETSTAT TRGSEEd WaH TAGoar=T TR Jar<T Yer = ATaR=aTar e
T 3R
1) ®th I, § RO 2) th &, & TR
3) Thth & SRIEY 4) SYR I TR
Consider the following statements :
a) The 52nd Amendment, 1976 incorporated the Anti-Defection Law into the Constitution.
b) This amendment amended Articles 101, 102, 190 and 191 by adding 10t Schedule to
the Constitution.

c) The Presiding Officer of the House has power to make rules regarding the provisions of
the 10th Schedule

Answer options :

1) Only a and b are correct 2) Only b and c are correct

3) Only b is correct 4) All of the above are correct

27.  TSAUTSTEET WSS [AUATIDN H1T @R 3R 2
) df ST BT JIPTAT FTAATT F HAwdl Fghl Hal. TUd, I Srehdm
TN 3TeeT F HEXT FHT USTER HHT hR0aT MTUHRR ISTAATAT 3R,
) SIS, HAaTad AT [TATdear S T9dr. df IsATdie [ardis<r seddidr
T e,
F) HIOTAT FROMTEA AFAAT ASTUTAST TR hlg FTehdl, & Ted FiRlaaes el
I 3N
1) h 3 2) Bh &
3) Wh o, 4) 3,9, &
Which of the following statements about the Governor is correct ?

a) He appoints the chairman and members of the state public service commission. Then
of course, the governor has the power to remove the chairman and members of the state
public service commission from office.

b) The Governor is the vice-Chancellor of the Universities in the concerned State. He
appoints the chancellors of the universities in the state.

¢) The constitution does not state on what grounds the President can remove the Governor
from office.

Answer Options :

1) Only a 2) Only c

3) Only a, b 4) a, b, c
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28. WIS TTUMFIUDT AT THSS [T 3fiesaT.
1) forar RS e eI Maga e STTdm.
2) Ueaw foum uiRwe=lr fFa de= 9= 40, 9% HEOH 9e 9T (T JTSareT
I TeT AT 14T IR gl MY oo e,

A o

3) U aRue= [ 9 TS Aesg=vaT ST Ued+ SRfaoho 3Tl del TcTeT et
4) ITUhT TR

Identify the incorrect statement among the following statements.

1) Members of the Legislative Council are elected indirectly.

2) The Constitution fixes the minimum strength of the Legislative Council at 40 and the
maximum strength at 4™ (one fourth) of the total strength of the Legislative Assembly of
that State.

3) Although the minimum and maximum strength of the Legislative Council is fixed by the
constitution, the actual strength is fixed only by the relevant parliamentary law.

4) None of these.

29. Yeios o9 fa=RTd =T Sfor Jenr faam=T siroe.
1) 42 I7 GeAIgHdl, 1976 a1, I, IS AW, I 9T T Uel ALl Har" g 39
ATGT Tl TaX AT FHeT T WO ¢ 5 09T 7 AT Ioadl o
TS 0T 37T,
2) T T 0T AHIAT FEET g T 9 IR,
3) 1935 AT ST 3 JAT &IAT, J1F AT IART JTIHR ISATST B, AT Tl .
4) FAT 248 TAR JART ATURR (Residuary powers) & haThs TTAIG. JFHRST A 7
ATIHR TsTThS TR,
Consider the following statements and identify the incorrect statement.
1) Through the 420d Amendment Act of 1976, five subjects were transferred from the State

to the Concurrent List : Education, Forests, Weights and Measures, Protection of Wild
Animals and Birds, Organization and Administration of Courts other than the Supreme and
High Courts.

2) Central list is superior to the state list and concurrent list.

3) The 1935 act had 3 lists, but at that time the residuary powers were with the state, now
with the centre.

4) According to Article 248, the residuary powers will be vested in the Centre. However, In
USA this right rests with the states.
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30. WTSIHUhl HITTAT HHA/TIRTH the-Iod ASUiaTad RIS hedl 3Ted ?
3T) Gest ST ) ISTHAR FTHAT
) TARBRAT START %) dRGS AHdr
Qe feohedT TaTETdl I g e :
1) 37,9, & 2) § 3T &
3) 37 SIOT 4) 31 3nfoT &

Which of the following Committees/Commissions have made recommendations regarding
Centre-State relations ?

a) Punchhi Commission b) Rajmannar Committee

¢) Sarkariya Commission d) Tarkunde Committee

Choose the correct option from the option given below :

1) a, b, c 2) b and c
3) aand b 4) a and c
31, Wlole U [IaRm =m:

3T) JEreAT YIS tfr=aTated A=At R Ueh-g3rier fohar <ar ey AT St it
IS T IMIRAT (hTHERTST HRUIATATSY) 3T,

) T AT EBIdIe HFDISITE AINT &1 IsaTdl STdhd YT fohaT fear fohar ghoer o
T ged Fedh I8, T U ATIHRT ASHTAT ATAT AITHTYT ToardT IRaTil 33
ZTehal.

qIET 3N

1) %eh 3T =[H 2) %t & [H
3) Tel I 4) IR W

Consider the following statements :

a) At least one-tenth of the members including the Presiding Officer of the House or ten
members whichever is greater constitutes a quorum (for working).

b) The Constitution states that the working language in the State Legislature shall be the
official language of the State or Hindi or English. But the Presiding Officer may permit the
member to speak in his mother tongue.

Answer Options:

1) Only a is incorrect 2) Only a is incorrect

3) Both are incorrect 4) Both are correct
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32, Woio egidiaT [ER & ST Riceid S9Rie =aawrr Jedid Aed o fioer ?

3 SATEr STegd qeH ) Ieel BERA

F) SHRET AT Ulee SHER ©) ST SgSaT B higdT 3T

T I

1) 37 30T § 2) 3, T MO &

3) & AMT § 4) WS T

Consider the following principles and identify which principles are related to Natural
Justice?

a) Audi Alteram Partem b) Ultra Virus

¢) Delegatus Non Potest Delegare d) Nemo Judex in Causa Sua

Alternative Answers:
1) a and d 2) a, b and c
3)cand d 4) All of the above

33, WIS RSeT [uaiddr Tha [ st
37) AERTY [T IRV A IE=AT 76 3R,
) HERTY 9T IRYSHT 1987 T 50 I 90T ST
%) TEe Tu9gs AT [T9ge e T AR @ R ATRR [ 9RYe STEe i Uy

ATE.

qIET 3N

1) %h 3T 2) %th &

3) Th 37 3T & 4) STRT 4.

Identify the incorrect statement from the given statements.

a) Maharashtra Legislative Council has 76 members.

b) Maharashtra Legislative Council completed 50 years in 1987.

c¢) The Speaker of the Legislative Council has the power to decide whether a Bill is a
Finance Bill or not.

Answer Options:

1) Only a 2) Only b

3) Only a and ¢ 4) All of the above.
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34.  Shald TETAT SMYTHIEl d gaX 87T Tghid ad- A< SHIOTYHTOT SR ?
1) TETE SATITSATS I =R T a3 AT
2) T%=A U Y T FaX AT
3) HERT BIBEAT AP TG T AT
4) T ST 3TeeT T TS

What are the pay allowances of the Central Vigilance Commissioner and other Vigilance

Commissioners?

1) Chief Justice and other Judges of the Supreme Court

2) Chief Election Commissioner and other Commissioners

3) Chairman and Member of Union Public Service Commission

4) Chairman and Member of Finance Commission

35. oW 371 AR AFTIATST HERTE 0T I[ERIAHT ISTIS T W& TTEard (20T STEareaaRr
AT ATIRR TR
M) T, fagy, ARTSaTer Mfor IR HERIE SNf0T TN, WRTY, w9 o IART TR

o

) AT HESHIAT HHBISTSTAAT SIS RTINSl [ATIHSSEAR AeR FRUAE dRde

T,
I 39Y

1) %eh 3 2) h &
3) 3, T Sl 4) ITYHT HOTdal ATl

According to Article 371, the President is empowered to assign special responsibility to the
Governors of Maharashtra and Gujarat in the following matters:

a) To establish separate Statutory Development Boards one for Vidarbha, Marathwada and
rest of Maharashtra and one for Saurashtra, Kutch and the rest of Gujarat.

b) To present the report every year on the functioning of these Boards to the Central
Legislature.

Answer Options:

1) Only a 2) Only b

3) Both a and b 4) None of these
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36.  RAT JAAHT ASRIAASG HIOTATe! fasameamed e Rarmdr wrer s=uarEr ifasR
AR SR ATl WG ST AR hol ax.

1) ST fo=ar THT e HAAT SgHAH

2) BIHITHT TSR g AAGTT DO IF-JATIIET A AT FAT ATel SqaT TgHd™
AT ATET ForT T

3) ST TSR MG A FROMAT SH-qAII12T A UG FAT ATal AT IgHdH
4) ITF {r=AT UHOT A F AT TgHAH

The Parliament of India acquires the power to legislate on any subject in the State List in
national interest if a resolution to that effect is passed by the

1) Lok Sabha by a majority of its total membership.

2) Lok Sabha by a majority of not less than two-thirds of its total membership.

3) Rajya Sabha by a majority of not less than two-thirds of its members present and voting.

4) Rajya Sabha by a majority of its total membership.

37. WISIGUhl HIVT-HIUTAT AT [o0Tel [AfeHes g ?

3T) FHACH ) snfesm
EDREEN ) IR W<zl
) TV
T 3N
3,9 g )T, H, T
3)F, T 4) A, F, T

Which of the following states has a bicameral legislature ?

a) Karnataka b) Odisha

c) Bihar d) Uttar Pradesh
e) Madhya Pradesh

Alternative answers:

1) a, b, e 2) b, c, d

3) a, d e 4)a,cd
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38.

JeIAUh! HIOTT STl Tgeh 3ATad ?

3T) HSHH 250 - JTOTETONHT ISTTOT STRT SRAATT T8 AT hIoTATe! Areradr fafaf-r=e
FHROITET GoedT AR

) HSH 268 - Ha BT hoey AT ST IMesT SATOT IS Hhoses oo,

&) HAH 256 - SATIh THIUTHE HUTS ISTTa2lch FI=oT.

$) HGH 258 - Thg IAMUT IS ATATHH GFL VTR SOT TTdRT hes SO .
T 39N

1) 3T 30T & 2) 3T MfoT &

3) & IMMOT S 4) 3, § AT &

Which of the following pairs are correct ?

a) Article 250 - While a Proclamation of Emergency is in operation, Parliament shall have
power to make laws with respect to any of the matters enumerated in the State List.

b) Article 268 - Taxes levied by the Center but collected and appropriated by the States.
c) Article 256 - Union control over states in certain cases.

d) Article 258 - Taxes levied and distributed between the Center and the States.
Alternative Answers:

1) aand b 2) a and ¢
3)cand d 4) a, b and c

39. WHAT EHIETEd SR Ueh JUIEAT 3Td TohR IMEc - 0T 3 HRYT 3G = Teh qurAT
FIATTIHAR gl SRS Aehai=n TSR amar, 3l RIeRT T T ShosedT
HIoTAT ARAH Sl grdr ?
1) UT. 9. 9eie 2) T. UH. 3&HaT
3) 2. T, Afoay 4) TTYHT AATES
Which committee related to Human Rights recommended that if there is sufficient reason
for not filing a complaint within one year, the commission should be empowered to
investigate even after a period of one year?
1) P. B. Patil 2) A. M. Ahmadi
3) V. S. Malimath 4) None of these

40. 1960 IT IS FERTETAT IR FERTY T [Ta=are= 18T hioT & ?

1) 1. 9T, ATISITRT 2) 27, AT, ILK0T

3) I, @. Hew 4) 2. F. TGS

Who was the Speaker of the Maharashtra State Legislative Assembly in 1960 after the
formation of Maharashtra?

1) Shri G. V. Mavlankar 2) S. B. Chavan

3) Shri S. L. Silam 4) Shri S. K. Wankhede
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41, Goe 9uH =R =
37 R TS SR [ohdT T&THAT a7 HROTTSRIGT 99T & 1T AIigdl 3IRth
fehar I wifRdT 3TRI<h AT Ue=gd s ZTohdl; U 3TN I JATUTS & STe Srehaiiarasr
3 AATGATHS ITSTardl,
) =T AT AT YR I, 9 T 3L AT 3T JISATAT A AIIHTT 3TTTd.
TR 39N
1) %h 3T I 2) Hth ¥ IH
3) Sl AR 4) LT IH

Consider the following statements :

a) Chief State Information Commissioner or State Information Commissioner can remove
for the reasons of proved misconduct or incapacity by the Governor; But in such a case the
Governor refers the matter to the High Court for enquiry.

b) The salary, pay allowances and other conditions of service of the Chief State Information
Commissioner is similar to that of the Chief Secretary of the State.

Answer Options:

1) Only a is incorrect 2) Only b is incorrect

3) Both are correct 4) Both are incorrect

42, 37) B SLTATH AN WUTYAT 1993 TTer! TS
) STGEH HIETUT TEANT W SRR HERTY § Uige T g,
%) AT AT W FRUR HeRTP 8 ufes T 8.

TSI BT [T TSR ST

Tt 3N

1) 37 37foT & 2) § 30T &

3) 31, § AfoT <+ 4) TAFUDT VTRl T8l

a) National Commission for Minorities was established in 1993.

b) Maharashtra is the first state to establish a Commission for Protection of Child Rights.
¢) Maharashtra is the first state to establish a women's commission.

Which of the above statements are correct ?

Alternative Answers:

1) a and c 2) b and c

3)a, band c 4) None of the above
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43, 57 RATIHEEMET Te goarTs! ge-Te qr=dT fhaT Fey AifTde 31ed, aRigHid gl
CRIDRECE
1) framrd FagT AR SRhr Faid AT [aaRTT AdeR9Td AdeR o Algo]
TS IR,
2) AT MIEIE AR ATRATS TTTha horedT SHiaT ATITA TG ey dlTes.
3) framaRydsrarad at 35 IEideT HHT ST AArET SO YRS aea ar 30
FETIEAT HHT FATAT TS,

+ AN o NN o h o0
4) A HHSH Sdoey Yr=dl HhY T'T che Yllgsid.

Select the incorrect option regarding the qualifications or criteria specified in the constitution
for becoming a member of the state legislature.

1) The person to be elected to the Legislative Assembly should be registered as a voter in
the Legislative Assembly constituency of the concerned state.

2) He should submit an affidavit to a person authorised by the Election Commission.

3) He shall not be less than 35 years of age in the case of the Legislative Council and not
less than 30 years of age in the case of the Legislative Assembly.

4) He should fulfil the eligibility criteria fixed by the Parliament.

44, ST AN TS fau/fau st
37) AT MR & FE HesrT HEERT SEER ST
) RS 0T [T UIR0T 0T HIIshATT =TT H2or.

) JIdT ATIRT & JUTf-eh FRAT 3R,

Ty IR

NEREE] 2) 3, T
3) Oh & 4) ®h &

Identify the correct statement/s regarding NITI Aayog :

a) The Commission was constituted as per the Executive Resolution of the Union Cabinet.
b) Formulate strategic and long-term policies and programmes.

¢) NITI Aayog is a statutory body.

Alternative Answers:

Dab,c 2)a,b

3) Only b 4) Only ¢
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45, STredT STaT. (159 T AEEdaAT 93 avdan
37) IMraT i) T 371 H
ERRE ii) HHT 371 G
%) R iii) ®ST 371 F
T) IHUHS UeET iv) AT 371 1
@G & & ®
) i ii iii iv
2) iv iii ii i
3) i iii ii iv
4) iv iii i ii
Join the pairs. (State and Special provision articles)
a) Goa i) Article 371 H
b) Sikkim ii) Article 371 G
¢) Mizoram iii) Article 371 F
d) Arunachal Pradesh iv) Article 371 I
@ @O © (@
1) i ii iii iv
2) iv iii ii i
3) i iii ii iv
4) iv iii i ii
46. 59 RfHeSEET @oe Fue ErRTT =i,

30 foum aRwes 7 Ragia sdifodas Ruayar wRa aeler e e, foramrasT
fraaRye FSear A9 [haT HIET o1 IEhRe 2Tehd fhal AThRs ZTehd.

) [duRETEd S SR el AdHE AT o g IRUATATS! Q! JEreAT A o]
ged dXqE HoATd ATl 38,

ERIRIIESESE
1) Hth 37 TR 2) th ¥ SRIER
3) qlel TRER 4) T IH

Consider the following statements about state legislatures.

a) The Legislative Council is required to send back the Finance Bill to the Legislative
Assembly within 7 days. The Assembly may accept or reject all or some of the suggestions
made by the Legislative Council.

b) In case of any differences between the two houses regarding the bill, the constitution
provides for a joint meeting of the two houses.

Answer Options:

1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect
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47. AR FEdEAT [ERTONT STSIGUST h3=T FHEET grdr ?
3T) FIVTATET AT AT YhROTHTS! FATHIRT 3RIUMR ATar.
) HIVTATEN ZRBIAT, AT ST9] Aigvardr Aot feeanf2rar gt s=faar Jome A,
%) AT Sa T e ot 2T,
T 3
1) %th & SRR
2) 3, ¥ TR
3) §, & I=E
4) TASYHT FF TR

Which of the following includes division of natural justice?

a) No Man should be a judge in his own cause.
b) No man should be condemned unheard.

¢) One who hears should decide.

Alternative Answers:

1) Only c is correct

2) a, b correct

3) b, c correct

4) All of the above are correct

[anN o

48.  TRHIAT EARTTAT RIBRINATET GIoihUehl BTl RIBRT & Fenral T HLUATd TG
TR?
1) IS IR FdT Ig HAT.
2) TV FIATh ITH & IS T SR He,
3) TARTH ASTUTS U HYSTd 0TS & AFT0T theTde! gl
4) STTEANT T TST JATAT GV THeal araiae gl

Which of the following is wrongly stated regarding the recommendation of the Sarkaria

Commission?

1) All India services should be cancelled.

2) The post of Linguistic Minorities Commissioner should be reinstated.

3) The Commission had rejected the demand to abolish the post of Governor.

4) The Commission had favoured the implementation of the three language formula.
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49. ‘HEMUahrdeyd Q@leie [Iu= Serd = :
37) TTITAT 165 AT HAATTAR ISITAT HEMIGTRITE! dda Hodrd el 38,
) HETTaaRITE! FwhT AFIAAT .
&) ATST ISATAT ATIHSEHTAT HIHRISTT TRT GoIqr€T F A HISUaATET ATIRRE TR,
T) TIRT 987 SR 5T AU AR ATA WISHIT Jichel ol ATUHR IATE.
TIASYHRT HIOTAT [T RIS 3Mea?
1) 37 3mfor & 2) A, ®, T
3) 37 3MOT & 4) F, T, H S
Note the following statements regarding 'Advocate General' :

a) According to Article 165 of the Constitution provision has been made for the Advocate
General of the State.

b) The Advocate General is appointed by the President.

c) He has the right to participate and speak in the proceedings of the State Legislature.
d) If the other party is state, then he has the right to do private practice.

Which of the above statements are correct?

I)aand b 2) a,¢cd

3) a and ¢ 4)a, b, c,d

50. 91 ST GeATGHwl Y AT hoved] dRgal SgHId WIGIGUS HIUT U 9% 318 ?
1) & GGl 2003 ATHN FRUITT AT

2) GATITIE hald HEAHSRAIe ATl THUT WAl BIhTHAIG THUT AT 15%
&7 3T .

3) JASATHE GEAHAT IR T HEHHSAIAIG Aaal THoT AAT HaT9d [TU_avdie THoT
TSIHIAT 15% &7 39 VIR ATEl T TAHAT 9 JTSaTdie H=aidl |eAT 15 9T
AT IFAAT HMET T4,

4) ITIHT HIOTART ATal.

Which of the following statements is incorrect regarding the provisions included in the 91st

Amendment?

1) This constitutional amendment was made in 2003.

2) The total number of members of the Union Cabinet including the Prime Minister shall
not exceed 15% of the total number of members in the Lok Sabha.

3) The total number of members of the Cabinet in a State, including the Chief Minister,
shall not exceed 15% of the total number of members in the respective Legislative Assembly,
but the number of Ministers in the State, including the Chief Minister, shall not be less
than 15.

4) None of these.
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51.  WTHIBUhT HIVTAT TTUTHT FHTd AT JUT TRRITTH ATIRAT EreT?
3) U (CrATeT T g e rsawid) [/t s
EESICEMENRED
) ARAT S ol [T
¥) I¥IE ASHIT ddd, W 0T Mgt 9aT g

ERIPIICAES
HHH ATT 2)BH I T H
3 Wh A TS 4HPHITE

In respect of which of the following bills did the President exercise absolute veto?
a) PEPSU (Union of Patiala and East Punjab) Appropriation Bill

b) Dowry Prohibition Bill

¢) Indian Postal Reform Bill

d) Salaries, Allowances and Pensions of Members of Parliament Bill

Alternative Answers:

1) a and b only 2) b and c only

3) a and d only 4) b and d only

52. Wi oM e e snfor ahg faumA Faer.
3T) BIHTHT THIATAT ST ATIT SRAART ATSHT ASHATAT T AIATAT AT SFT,
) AT HIGTTLIAT STl [ [afsia Sears AT IS TMeT SeTr.
Tt 3N
1) %eh 37 Ig 2) %th § I
3 del AT T 4) ST N T T AR

Consider the following statements and select the correct statement/s.

a) If the Speaker of the Lok Sabha wants to resign, he has to submit his resignation letter
to the President.

b) He has to resign if the house is dissolved before the normal period.

Alternative Answers:

1) Only a is correct 2) Only b is correct

3) Both a and b 4) Neither a nor b
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53. WSS o faeRme e snfor ang a4 Faer
31 3ehfes [T Irpudie adaq A afearee e
) TR TAAUITAT Uiohdd AT TEHRT AT
T 39N
1) %th 37 Ig 2) th ¥ AT
3) AR AT T 4) ST 3T T AR

Consider the following statements and select the correct statement/s.

a) The Contingency Fund is maintained by the Finance Secretary on behalf of the President.
b) Parliament is not involved in the budget making process.

Alternative Answers:

1) Only a is correct 2) Only b is correct

3) Both a and b 4) Neither a nor b

54. WO ue eERIT @1 nfer ang a4 Raer
37) 3N AEUATET B 30T TSI hIHATST HITed! heaT YOIl gl THIEZT Tl
FHAT 19 (1) TN 9T T Af9=hl W=7 T gaTd 2l

o) YT geRldR AT™HTAATHT ATHIH 3O =M=y g T hRUMTIE Wef Yl dl adld.

TR I

1) %th 37 I 2) <h & I

5 ae AT T 4) AL T T T AR

Consider the following statements and select the correct statement/s.

a) The right to remain silent and the right to be informed about government affairs are
included in the right to freedom of speech and expression under Article 19(1) of the
Constitution.

b) This right can be restricted on grounds of contempt of court and defamation of character.
Alternative Answers:

1) Only a is correct 2) Only b is correct

3) Both a and b 4) Neither a nor b
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55. WRAT ISTIST<AT v 14 9 ST THAAT dcdl A9 @Toiey Jehl ShIvTd /dT hod
YT MTEA?

M) FHAT 361 ) FAHH 102
%) HST 105 2) FH 31A
R IDIIRE

HHHATT 2) Bh AT &
3) Bth T T S 4HHHITTS

Which of the following clauses is/are an exception to the principle of equality contained in
Article 14 of the Constitution of India?

a) Section 361 b) Section 102

¢) Section 105 d) Section 31a

Alternative Answers:

1) a and b only 2) a and c only

3) a and d only 4) b and d only

56. Wioe U fa=mRrd = snfor @y fgu=4 Faer.
) IFIATAT [TIRITIRRIS GATIHT AehrRT F3l Hagvard W=y qaited 2.
qITET 3N
1) %t 3T I 2) Wh & I
3) aer T T T 4) TR T T T AR

Consider the following statements and select the correct statement/s.

a) The Prime Minister selects the Ministers to serve in the Cabinet on the advice of the
President.

b) The discretionary power of the President limits the freedom of the Prime Minister to
choose his fellow ministers.

Alternative Answers:

1) Only a is correct 2) Only b is correct

3) Both a and b 4) Neither a nor b
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57.  Wee faum faemra = afor am fa/A faer.
3) IASHT IS THFRNET TG AAGHT GaTd ATTHRT ST bl df ST [o%es
HAS H.
) AT HIOTATET THFIETT SATIAT dTS] Hig 3Rl

TG IR
1) %h 3T TT 2) %th § I
3 SR AT T 4) ST A T AR

Consider the following statements and select the correct statement/s.

a) The Prime Minister, who is a member of the Upper House of Parliament, votes against
the motion during a no-confidence motion.

b) He may present his case in any House.

Alternative Answers:

1) Only a is correct 2) Only b is correct
3) Both a and b 4) Neither a nor b

58. WRAM F fafesr IO<rr YoNdh T Wi YehT HIOTAT MBI AT 3ESd?
37 e Rftres ) ATGEN BT
%) ATRh STETIaRT B) el Hige
ERIEICIES
DO IATA 2)Tth I I h
HThth A TS HPHthdd S
Which of the following are similarities between Indian and British parliamentary systems?
a) Bicameral Legislature b) Judicial Review
c) Collective Liability d) Shadow Cabinet
Alternative Answers:
1) a and b only 2) a and c only
3) a and d only 4) b and d only

59.  FY HIGIHH AIET - (TRAT TP
31 . IR, ARTIIT ) 3R, HheIHIT
) ST, TH, Sl IMET ¥) TA. WS g
T I
I T 2) %, H, T, T
3)8, d, 4, 3AF 4 e d, A, 5
Choose the correct chronology - (Presidents of India)
a) K. R. Narayanan b) R. K. Venkataraman
c) Dr. S. D. Sharma d) N. K. Sanjeev Reddy
Alternative answers:
1)c,d, b, a 2)d, c, b, a
3)d, b, a 4)d, b, a, c
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60. WISTHURT RV TSATHS IUTIAISTHT 2eF 8T TSTHIS-=T AT 32 I TS 2.

1) "R ST 2) ST, &1, IR, FTehT

3) I, TSPNUTSTRT 4) SO T

Who among the following said that the right to constitutional remedy is the soul of the
Constitution.

1) Maurice Jones 2) Dr. B. R. Ambedkar

3) C. Rajagopalachari 4) D. P. Basu

61. WIS [y o= & snfor T a4 Faer.
37) RATAT ATESITas QAT 395 Hdd AT HEUERT hosl i3 Jhdld.
) RATEAT A T <3 HIOTATEr ST HIAARER hesl SIS ZTehdd.
EEIRIIELESE
1) %h 3T 2) Beh T

3) AR AT T 4) L A T F AR

Consider the following statements and select the correct statement/s.

a) Payments out of the public account of India may be made only by an Act of Parliament.
b) Payments may be made through the Consolidated fund of India without any Parliamentary
Act.

Alternative Answers:

1) a only 2) b only

3) Both a and b 4) Neither a nor b

62. THIHT YEATIHSHTI® WOTRUh! HIvTdT [T AT 3TTed?
) ST JEAT IRATT AISUITATST 50 AT T T3IH 3T,
) HAGST Uisha T AT STl Ja-<T 3 3R,
%) ATISIh €Sl HeQTAT STalhe AT 8T TITATATST & a1 Aol i
T) BT YT YRS AISUATATS! Toh TQa™T 3PTER AT IU7 a3 ITe.
T IR
1) A, 9 h, S 2) 3, 9, &h
3)d, s, © 4 3, 9,
Which of the following statements regarding calling attention motion are correct?

a) The support of 50 members is required to move calling attention motions

b) calling attention motion is mentioned in the working procedure rules.

¢) The notice is made to draw the attention of the Minister to a matter of public importance
d) One day's prior notice is required to move calling attention motions

Alternative answers

1) a, b, c, d 2)a, b, c

3) b, c,d 4)a, b, d
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63. WIS UM o= =1 nfor g A Faer.
3T) IrSTISHHAT HAH 102(1) 3MT 191(1) SR ehH WRIGR T AR T 3/dcs SITdTd.
) AT B U IR FR0T, [ahes 79 3907 fohar 91 AriiRehey 9ot a1 Sreiges
SieUtafer s 3% Zrehdl.

T 39Y
1) th 3T I°T 2) Wh & I
AR AT 4) T F T F AR

Consider the following statements and select the correct statement/s.

a) MPs and MLAs are disqualified by Articles 102(1) and 191(1) of the Constitution
respectively.

b) Under this, holding office of beneficence, being unfit of mind or not having valid
citizenship may disqualify a representative of the people.

Alternative Answers:

1) Only a is correct 2) Only b is correct

3) Both a and b 4) Neither a nor b

64. HRART ITISAAIS WIS HIUTAT TAH STRIATAT SNTABRTE THTET TGS JHfEd
FROGTATS! ISATER. ST ATSaATa?

M) HST 39 ) FoH 43

F) HAH 43 3) o 47
qIET 39

1) %k I, T & 2) Bth T, H, T
WS, T9H 4) TAHURT TS

Which of the following articles of the Constitution of India imposes an obligation on the

State to ensure effective implementation of the right to health?

a) Section 39 b) Section 43

c) Section 43 d) Section 47
Alternative Answers:

1) a, b and ¢ only 2) a, ¢, and d only
3) d, b and ¢ only 4) All of the above
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65. RART I FTERTAT JhdTIAR AT HATTE WIAHGUD! FdTd FIRE BT MTE?

1) HETAl® hia-e HAl 2)TEHAT ATAT AT

3) HTSIT GdTaTT 4) 3uregeT AT SArEnT

Who among the following is senior in the order of precedence according to Indian state
affairs?

1) Cabinet Minister at the Center 2) Chief Minister in his State

3) Former Prime Minister 4) Vice President Niti Aayog

66. WToies [T =R = anfor ahe /4 Faer.
3T) FIHAIT T IASTAHT AT UTRA Jgh Joeh 1961 ST SR AT AT I 0T [
THT HRUTATST ST,
) FIEr JUANHS TR T FYh TSR A Goedl JAradT I ATerd.
T I
1) %t 3T I 2) W<h & I
AR ATT 4) IET M T T AR
Consider the following statements and select the correct statement/s.
a) The first joint meeting of Lok Sabha and Rajya Sabha was held in 1961 to pass the
Banking Services Commission Abolition Bill.

b) New amendments cannot be proposed in a joint meeting except in certain exceptional
circumstances.

Alternative Answers:

1) Only a is correct 2) Only b is correct

3) Both a and b 4) Neither a nor b

67. WEoe [y =R = snfor g a4 Faer.
3T) BIHTHAT THTIAIAT THI]E STHTAT AT deHd hodral ATTHR T,
) ST TR[E TRERA ohes ST AR T APAAT IS S0 Al 2Tehal.
I 39T
1) %tk 3T T 2) h & I
AR ATT 4) L F T T AR

Consider the following statements and select the correct statement/s.

a) The Speaker of the Lok Sabha has the power to adjourn the House indefinitely.

b) When the House is dissolved then only the President can convene a meeting of the
House.

Alternative Answers:

1) Only a is correct 2) Only b is correct

3) Both a and b 4) Neither a nor b
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68. TETAT I[TTA AFIAT ISTaE GF] 0T HeHTd Hare TSI g FeodTd Goladdh!
HIUTAT dd/de ATSol?
37) TR [a%eg TR0 ARAUITHAT 5T IRERT [T B 356 FIAR Fell D0l Iy
.
) AFTAT I[STAE BN hRoATAT HROT Weg HRUITH! STAEERT hardl 378,
Tt 3
1) %th 3T I°T 2) Wh & I
3) R AT 4) ST T T T AR

Which of the following principles was laid down by the Supreme Court in the Bommai case

regarding imposition of President's Rule in a State?

a) Action under Article 356 is appropriate against the State Government implementing
policies against secularism.

b) The onus is on the Center to prove the reasons for imposition of President's Rule.
Alternative Answers:

1) Only a is correct 2) Only b is correct

3) Both a and b 4) Neither a nor b

69. WOl faum foemra = snfor I faumA Faer.
3) WA BT AT ATGAT TS IS ST STHA TS0 & APRT hel A
.
) ST HASH URDBIT T ARTRBET S BT,
qIET 3N
1) %h 3T IRT 2) %h ¥ IRT
AR ATT 4) R A T T AR

Consider the following statements and select the correct statement/s.

a) It is a civic duty to take pride in the noble ideals born out of the freedom struggle.
b) Fundamental duties applicable to foreigners and nationals.

Alternative Answers:

1) Only a is correct 2) Only b is correct

3) Both a and b 4) Neither a nor b
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70. WHISTDHT HIVAT HAH IsTISTdIS 9N IR TS RIesid dd ed?

3 FHAT 335 ) FSH 350 A

&) HAT 338 ) HAY 351
T 3N

HDHEH A, TTH D) FHH A, TTE
S, TT H 4) WSTRT F9
Which of the following articles are directive principles outside Part IV of the Constitution?
a) Section 335 b) Section 350a

¢) Section 338 d) Section 351
Alternative Answers:

1) a, b and ¢ only 2) a, b and d only
3) d, b and ¢ only 4) All of the above

71. PSS Il HeHTd GoThUSl HIvl [FU=/~ Te TRd?
37) ANTE3Th daTeAT HGISIGUN AT ISl FHT vl Fa3TH 2.
) ANTE3H ddid IGE HIOTRT HFal I 38 3 —ARTHT 3 3Tehd ATl
T 3N
1) %h 37 TT 2) %th § I
e AT T 4) TEr N T T AR

Which of the following statement/s are correct regarding directive principles?

a) Legislation must be passed for implementation of the directive principles.

b) A court cannot hold that a law which violates the directive principles is invalid.
Alternative Answers:

1) Only a is correct 2) Only b is correct

3) Both a and b 4) Neither a nor b

72. IHIEAT g APIGIS dd 0T HMd &85 AT AeHid AATGATHhg SIHGTSTIUl goms
STITOT ATATGATR T JASTSTEUI 7 EOTR 3T S DR AT 3T IV FaAfaes ge?
1) €. STETHRS TS 2) T, AT G
3) df. U, 39 4) U9, e

Who suggested that there should be two categories of individual rights regarding directive

principles and fundamental rights: court-enforceable and non-court-enforceable?
1) Dr. Babasaheb Ambedkar 2) H. C. Mukherjee
3) B. N. Rao 4) N. Srinivas
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73.  WISIHUDT VAN hSH ITGSHAIS IRT AT J88S IeATHS fhar Jur=rer g5 fohar

I&Yd T g8 NRa?

M) FHAH 265 ) HAH 300 A
F) HST 326 2) ®3H 301
CEIRIIEGES

HEH A, TTH ) FhH A, TTE
S, TT H 4) STRT F9

Which of the following articles are constitutional or statutory rights or non-fundamental
rights outside Part III of the Constitution?

a) Section 265 b) Section 300 a
¢) Section 326 d) Section 301
Alternative Answers:

1) a, b and ¢ only 2) a, b and d only
3) d, b and ¢ only 4) All of the above

74, WHGIHT HIOTAT TeATGEHRA/AT HAEHEHET A ATIAT aF TUTHRS FROATA A2
3) 42 AT FSAIGHRA ) 44 ST AT
T 3N
1) %h<h 3 2) th &
AR ATT 4) Er T T F e
Which of the following constitutional amendments made the advice of the Cabinet binding
on the President?
a) By the 420d Amendment b) By the 44th Amendment
Alternative Answers:
1) a only 2) b only
3) Both a and b 4) Neither a nor b

75. WISIGUHR AsTISHAT HIVTAT FHSANTY IIRTEIAT IFIATAT JARIT THRT IFIAT I
FIH FHRAT?
1) FFT 65 2) HST 64
3) HSH 63 4) HHT 62

Under which of the following articles of the Constitution does the Vice President act as

President in the absence of the President?
1) Section 65 2) Section 64
3) Section 63 4) Section 62
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76.  THORTAT AETHS 4l WoIGU! SOl [a= 3T® ed?
3T) WARTET a1 & ISR HESER <@ SquaTaTel T HRART A9y g
3T 3ol TehoUdT 3Te.
) AASHAT TAh AT FSShAT UL are TS MG SacaT 39l
%) THAARTAT AR RI0T T9T TaRdT .
©) THIRIRTAT ARG hAdegdl & BT FEH oh. 3 TAR ATHEe ST,
T 3N
1) 3A 9 K 2) ¥, s, ©
39, S 4) TSYHr TF

Which of the following statements regarding Question Hour are correct?

a) It is an Indian innovation in the field of parliamentary procedures to keep a check on
the executives.

b) The first hour of every parliamentary sitting is reserved for the Question Hour.

¢) Supplementary questions can be asked during the Question Hour.

d) The procedure followed for the Question hour is according to the LokSabha rule no. 32.
Answer Options :

1) a, b, c 2) b, c, d

3) b, d 4) All of the above

77.  WIHISTHT HIOTd/AT [um/A SR 3med?
3T) AT THTHT b ATl [dddeh BT q1ad.
) BT e HTRT ISTTHd ToTod IR0 I BIehdyd 9Hd 7 oo [Fugh

AT grad ATal.

T 3N

1) %th A 2) Bh ¥

3) arer 4) ISR Tehal ATel

Which of the following statement/s is/are correct?

a) A bill pending the LokSabha lapses on it's prorogation.

b) A bill pending in the RajyaSabha, which has not been passed by the LokSabha does not
lapse on dissolution of the LokSabha.

Answer Options :

1) Only a 2) Only b

3) Both 4) None of the above
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78.  WRAIT ISTIEAT GeT vl A9l Fenld [T JesaT.
1) YR GGl Yegid &l IIG10T AMMhehedT AT daoo 3e.
2) FEAGHE [9US APAAIAT IF FFA HAiSes S, T AT IFIAaR. aeAgaedl
faﬂ}azﬁﬁa'?iq?ﬁ'ébﬁ'thqaﬂ?zﬁ'aﬁzvniT 24 9T FSATGHAT 1971 ATH FHRGTA AT
3) faRErE gedigew fadges duaer (93l Sgadarl Afor Mearder sitdes Tsaren
TATawea=T AT IgaaM A=ar ATaege AAC. & dRdg WRA RIS =T ASad
3.
4) TISURT THeT el

Identify the incorrect statement about Amendment to the Indian constitution.

1) Indian constitution has adopted South African procedure for the amendment of the
Constitution.

2) 24th constitutional amendment act of 1971 made it obligatory for the President to give
his assent to a constitutional Amendment bill as such a bill is introduced only after his
assent.

3) Certain constitutional amendment bill need a special majority of the Parliament and
the consent of half of the state legislature by a simple majority. This ensures the federal
structure of Indian Polity.

4) None of the above.

79. HEHSE AMATRIESYT T U/ S El.
) g IRHRTHTANET TRIEGR TROT SAGUATAT Wioha el AH-aghral T SJeiauar
FE UR UTEd.
) o de dauareT AfURRIETST HH .
T) 1947 TETGAR STRSAT FARRI URTSAT SHT AT Ses AGTRT WIT THes .
I 39N
1) o, & 2) 9, &
3) 3, T 4, T, H
Identify the correct statement/s about Cabinet secretariat.

a) In central government, it carries out the role of coordination at high level policy making
process.

b) It works under the direct authority of Prime Minister.

c) Cabinet Secretariat established in 1947 in place of executive council of Governor General.
Answer Options :

1) a,c 2) b, c

3 ab 4) a, b, c
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80. TEMT HUTHREdr FH=l ARG AdYE X FRUIRIS! ISgge=aT ol
HAAAR JAd! Jgh Jh B Eauard Ia?
1) HST 109 2) FHH 108
3) FHT 110 4) TS 111

To resolve the deadlock between two houses of Parliament, a Joint sitting of Parliament is

called by which article?
1) Article 109 2) Article 108
3) Article 110 4) Article 111

81. WTHIAUD! RVl hdes HTE AT AT 3TTe?

1) 3T ARy 2) yATASIT wrERfES afFdar

3) HTaSI—h IUshH HHdl 4) 3igTST AT

Which of the following is exclusively a committee of the Lower House?

1) Committee on Assurances 2) Committee on Delegated Legislation
3) Committee on Public Undertakings 4) Estimates Committee

82. T [T sires.
37 YR IRHR HIST 1919 AT Blehs@T HHART LTIAT HIvaTd AT,
) FHSET AHAT B HhaHT WA hd.

F) Blhoh@T ATHAIGT aTsT AHATAT ol FI0T FUTdTd.
¥) WIRTHAR AT 3TereT 81 [RrdT TefTdiey SRl

TIRT 39N
1) ®<h 3, & 2) thth h, §
3) h & 4) thth &, §

Identify incorrect statements.

a) Public Accounts committee was setup under Government of India Act 1919.

b) Public Accounts Committee represents only Lok Sabha.

¢) Public Accounts Committee is called as twin sister of estimates committee.

d) As a part of convention, chairman of committee is selected invariably from the opposition.
Answer options :

1) Only a, b 2) Only d, c

3) Only b 4) Only b, d
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83. hisHe AMITSSAT I foum/faum e,
31 HiSHe AT & TSI S HAT 32,
) AT AHAT TATIHIGIRT TS hedT ST,
%) STehd HTER AHATHT U hid-e TGl T,

T 3N
1) ®th 3T 2) ¥ O &
3) AT H 4) S I9

Identify correct statement/s about Cabinet Committees.

a) Cabinet Committee is a constitutional body.

b) These committees are set up by the Prime Minister.

¢) The committee on political affairs is also called as Super Cabinet.
Answer options :

1) Only a 2) b and ¢

3) a and ¢ 4) All of the above

84. HIHUTS IMOT BAEH HEET (2013) TAR hald FTTUITITIT=AT FAaTshiear Hahr

3) e ) her e

F) HRHdIS AR T ) RAT IR
T) HIH, HTESIE dehTel TOT U= AT

CEIRIBEGESE

39 24,8, g

3, H, T 4) A, H, S

According to the Lokpal and Lokayukta Act (2013), the recommendation committee for the
appointment of the Director of the Central Bureau of Investigation consists which of the
following official?

a) Prime Minister b) Union Home Minister

¢) Leader of Opposition in Lok Sabha d) Chief Justice of India

e) Minister of Personnel, Public Grievances and Pensions

Answer options :

1) a, b, c 2) b, d, e

3)b, c, e 4)a,¢d
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85.

oo faa eRma =,
3N 3T FATSIAT AT e 8§ YRATAT S [Jeivear ame.
) AT I ARTSATAT AT Fgh HReaTdr ST JEH=ET g 9dT

SIG(

Ty a4 e
1) %<h 3 2) ®th &
3) arer 4) TSI Tehal ATer.

Consider the following statements.
a) Transfer of judges of high courts is the sole prerogative of the Chief Justice of India.
b) The chief minister of the state is consulted before appointing the judges of the concerned

High Court.

Choose the correct statement/s :

1) Only a 2) Only b

3) Both 4) None of the above

86. SIIedT S[edT.

3n 219 i) 3T SAATHATT T

T 214 ii) 3T FATGATAT AT FEhl § AreAEEaeT It
&) 217 iii) TSt 3 TS

¥ 216 iv) 3T ATATGITAT ATATZNhg 219 Tohal Ufd=im

CORNC) N CORNC)

1) iv iii i ii

2) i iii i iv

3) iv il ii i

4) iv i ii iii

Match the pairs Article Subject Matter.

a) 219 i) Constitution of High Courts

b) 214 ii) Appointment and conditions of the office of a Judge of a

High Court
c) 217 iii) High Courts for States
d) 216 iv) Oath or affirmation by Judges of High
@ @® © (@

1) iv iii i ii

2) i iii i iv

3) iv il ii i

4) iv i ii iii
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87. ATE TSI YEies oy faeamrd =
37) AT ATATSATHT IUTIAT 28 AT 1950 ST ST,
) T AT ATTGIATAT IR H&AT 34 3 (IR IEg).
) HAH 130 TR AAG IAFIAAT FHAM AT ATATSIAT T W TGO AT

TETS TEschM Y 2.
) Wt IRTULh SAITOT STRTAGTHAT ATl hIXOTIT T oAT ST Fel el =T areAl

qe=gd T Id.
TFng fguEA Faer
1) th Q9= 37, ¥, S 2) % U ¥, T, &
3) Whth (9T 3T R ERERIEREREREE

Consider the statements regarding the Supreme Court of India : (a) It was inaugurated
on 28th January 1950.

b) At present, Supreme Court consists of 34 judges (including CJI)

c) Article 130 enables the Parliament to appoint a new seat of the Supreme Court,
with prior President's approval.

d) A judge of Supreme Court can be removed from his office by an President's order
only on the grounds of proved Misbehaviour or Incapacity.

Choose the correct statement/s.

1) Only statements a, b and d 2) Only statements a, b and ¢

3) Only statement a 4) All statements are correct

88. WISIAUHT BT fraTeiar gaie AT ThAd TR TR &5 3me?
3N 4 AATS 91

) USATHES ITEIITIAT 3T AEATGIATAT oIS

) TPIAT T IIRTEIAT FrAT Haevhidies Harg
) AT ATAFRR &5

I 3N

1) &% A, € 2) Bhth 9, &h, ©

3) %hth 3, <h 4) thh 3, &, S

In which of the following disputes, the jurisdiction of the Supreme Court is exclusively
original?

a) Dispute between two states

b) Against the verdict of High Court relating to the constitutional matters
¢) Disputes regarding the election of the president and vice-president

d) Writ jurisdiction

Answer Options :

1) Only a, d 2) Only b, ¢, d

3) Only a, c 4) Only a, c, d
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89. 3ITANY faram e

) A" ARSI dadf AT A9 IEAAr .
&) AT FAEATHATT Fgd TSR A TEOAr AT,
AT 3N

1) Hh 3T

2) %7 &

3) th &

4) &h 9, &

Identify incorrect statement.

a) Interim chief justice is appointed by the President.

b) Ad Hoc judges of the Supreme Court are appointed by the President.

¢) Appointment of a retired judge as a judge in the Supreme Court is done by the
President.

Answer Options :

1) Only a incorrect

2) Only b incorrect

3) Only c incorrect

4) Only b, c incorrect
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90. WRATSAT FEIGETIREHT (CAG) FHT Yeieh TTuT amrd &ar 3foT 3rgeh [/~ sfiesa.
3N BT BT TRATIIG BIhIel TATHIRITT Tsh ATUR ATE JAM0T af TRAMT @l UiReToT
30T ST FA9mT=T W 3R
) HETHETANRETHIGT SUATT JUTR I T et I I TR AfTemrear go=ar gRkfErenrsr
ATE.
) TSR ARIGETARERNET Hrdhics & UTe ay fohar Tam=ir 65 a9 qot gsudd, St et
TS o I

©) TR TR RSN FHYAl TGS TR HalG@TI= ST AT HaTaRIeToT
STEATHII T he’ ST, TRASHT AT T TV AT AT AT AR HETH @I TehTAT

dIdRT gX b 2Achdld.

T 39Y
1) 3, FOT 2) & 3MMOT &
3) 37 3MTOT & 4) TF I99

Consider the following statements regarding the comptroller and Auditor General of India
(CAG) and choose the correct statement/s.

a) CAG is one of the bulwarks of the democratic system of government in India and is the
head of the Indian Audit and Accounts Department.

b) The salary and allowances of CAG are mentioned in the second schedule of the Indian
Constitution.

¢) Constitution mentions CAG holds office for a period of five years or upto the age of 65
years, whichever is earlier.

d) The accountability of the executive to the Parliament in the sphere of financial
administration is secured through audit reports of the CAG. As an integral part of the
Parliament, CAG can be removed from his office on account of the President's pleasure.
Answer Options :

1) a, b and d 2) b and c

3) aand b 4) All of the above
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91. T smarmTEET [ =T @
3T) HAH 280 THAR AFTCT IS FH.
) uleedr O MART=T WTYAT 22 Args? 1951 ST HRoGTd 3Tl
%) ATIRTAT AR TAT IHo Mehy AP SIG adTd.

?) 14 AT o ATFRT= 3reed €. 979, o Ig7 8.

AR a4 e,
1) ®th < 9 ¢ 2) B A, ITH
3) Tth & 4) 9 fI9™ SRIER M.

Consider the following statements regarding Finance Commission of India.

a) Article 280 provides for constitution of Finance Commission by President.

b) 15! Finance Commission constituted on 221d November 1951.

c) President prescribes the qualifications for the members of the Finance Commission.
d) Dr. Y. V. Reddy was the Chairman of 14t Finance Commission.

Find incorrect statement/s.

1) Only c and d 2) Only a, b and ¢

3) Only ¢ 4) All statements are correct

92. YR faa fo=Rma =
3) HERTY BIhaaT ERTHT WIIAT HeAH 315 FdTd Hvard el 3R,
) 2 Tehar 31feres ISl AT ShvaTd FUTRT Heh SlhadT AT & Haunfre ar,
T 39Y
1) ®th 3 TR 2) th & SRR
HIEEICNER 4) <L IH

Consider the following statements.

a) Maharashtra Public Service Commission is constituted under article 315 of the constitution.
b) An Joint Public Service Commission created for two or more states is a constitutional
body.

Answer Options :

1) Only a correct 2) Only b correct

3) Both are correct 4) Both are incorrect

93. 1953 He fq<h FRUGTA S5 Ul ARTASIT TN 37087 VT Bid?

1) . 91, 4Es 2) FIhl FSFH

3) JH HaT 4) 99 HaT

Who was the chairman of the first backward classes commission appointed in 1953?
1) B. P. Mandal 2) Kaka Kalelkar

3) Ram Nandan 4) Raghav Nandan
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94. Yl [aa fo=Ra =
3T) RAT AT Srhaar TRt 1 Yot TR qrEafawdt Fey Rear e
) HET BIHAAT SN 318 fohaT A== =T IR ST YUl hedHal O T
HIATGATHT THAT HIABISRATSIAT JAYHI AT ATeld.
T 39N
1) T RR, T IH 2) 3T g, T TR
3) el RIS 4) e I

Consider the following statements.

a) The constitution of India specifies qualification for the union public service commission
as a whole body.

b) The chairman or a member of UPSC having completed his/her first term is not eligible
for reappointment for a second term to that office.

Answer options :

1) a correct, b incorrect 2) a incorrect, b correct

3) Both are correct 4) Both are incorrect

95.  ISATAT® HEITUETHl ITeaT Hedid Wiola [SU [S=Rid &,
) T 3 ATTGATAT = AATHRNET F=6l & dMdY Pl Agraahrar H<hr
AT
) T 5T IARBRT T HrIal USRI e

%) APAATAT AAAR TATT HISAoH AHGeAT Aol Isaral Feaahl o gt

R aN
Dl Sl Rlehd.

Thr /A Haer
1) Wh 3T 2) Bth &
3) Bh o, & 4) Th 3, &

Consider the following statements with respect to the Advocate general in the state.

a) He is appointed by the President after consultation with the Chief justice of the
concerned High Court.

b) He is the chief law officer of the state government.

¢) A person who is a prominent jurist in the opinion of the President can be appointed as
the advocate general of the state.

Choose incorrect statement/s :

1) Only a 2) Only b

3) Only a, b 4) Only a, ¢
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96. URRIE 2 : Faq, v T 2T IR AFTAILISURIHRT THATIE AT
1) 3T TSI =TT 2) YRa FEsd 9 AeroErdiReTs

3) ST YRYed YA 4) FIRATET HEFITIETS)

Who among the following is not included in the second schedule (Provisions relating to

emoluments, allowances and privileges)

1) Judges of High Court

2) Comptroller and Auditor General of India
3) State legislative council's vice-chairman

4) Attorney General of India

97.  TRTHGIT ATURROT T« T fecvear faummm =+
) g5 ey T 14 37 : SATAMTIHROT AR he T ASAHY. TR AT ShRoT=T
LTI FHRUAT 3Tl 3R,
) el WITERT TR0 (CAT) AT THETET hIAHS 6 99 [ a7 AT 65 9 37T,
F) hald TERIGE ATANTIHRONaRIG Al a8 HAMgaMT MYl ARl (ACC)
AGAAGT hed BIhTHD THTIAT RTHRT Hedrd.
T) el RIS AT OTAT STHLAE F SIS A0 IFAA! HdTd.
g fou sftear.
1) faum st enfor & ARELIE RG]
HRIT I, I, FTS 4) ISR Tehal ATar

Consider the following statements regarding administrative tribunals.

a) The central and state administrative tribunals are established according to the provisions
of part 14A tribunals from the original constitution.

b) Chairman of central administrative tribunal hold office for a term of six years or until
he/she attains age of 65.

¢) Members of central administrative tribunal are appointed on the basis of recommendations
made by the speaker of Loksabha with an approval from appointments committee of the
cabinet (ACC).

d) Chairman and vice-chairman of the central administrative tribunal are appointed by the
President.

Find the correct option

1) Statement a and b 2) Statement b and d

3) Statement a, b, ¢ and d 4) None of the above
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98. Wloleh e f[a=RTa =,
) WRETT I [adae d9ad ASTarITe! Ueh AigAT STl =T A&l S0Td.
) ATESIh [TUIRTAT Hd AR HoX groard! 2redT SAT 378,
T 3N
1) 37 R 2) T IR
ORCUAICHER 4) LT b

Consider the following statements and choose the correct option.

a) Introduction of a private member’s bill in the parliament requires one month notice.
b) It has less chance to be approved by the parliament as compared to public bill.
Answer options :

1) a correct 2) b correct

3) Both correct 4) Both incorrect

99. 3TN fauTT 3fiesa.
1) ARATAT Hod T 9 AT haaner 6hdl Id el
2) RATET A AT IFudi=n gdi+ Sed qeaa 9RoT HRdTd.
3) JAFAAT STThRAHRAT (T Faerr JTARErT Jraes srehdrd.

4) YRATS ATeSTS e A7 FUIT Se SHdaieaT @< &Rdr adl.

Identify incorrect statements.

1) Expenditure from India's consolidated funds cannot be made without parliamentary act.
2) The Secretary General of Parliament on behalf of the President holds the contingency
fund.

3) The president uses contingency funds without parliamentary consent.

4) Expenditure can be made from Public Accounts of India without parliamentary consent.
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100. T fagm afieT.
) HSH 105 T FASY SRIMIRRET dRqg ATe.
) e ARAT HEATIETe, HElGETReTsd  hald Hal 91 SAhiarel aderd fSiesr
U hobeh 3.

%) ARATAT ATIAT HHT SR SE] 2 AR,

T I
1) IRAGUR A T 2) Hh I, T
3) th 9, & 4) ®h 3, H

Identify the correct statements.

a) Article 105 is provided for parliamentary privileges.

b) The constitution has given parliamentary privileges to the Attorney General and the CAG
and to the union minister as well.

c) Parliamentary privileges do not apply to the President of India.

Answer Options :

1) All of the above are correct 2) Only a, b

3) Only b, c 4) Only a, c
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